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Pre-Caleulus: Chapter#9 Review

|. Use thé substitution method to find all solutions of the system of equations.
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Z. Use the substitution method to find all solutions of the system of equations.

2 determine if the}grstem 2 ~

\_ has ¢ one solution, no solution, or infinitely many solutxons
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L“ Find the compiete solution of the linear system, or show that it is inconsistent,
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£5. The system of linear equations has a uniqu jon. Fin ution. -
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7]. Perform the matrix operation, or if it is impossible, explain why.
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8 Perfoxm_t matrix operation, or if it is impossible, explain why.
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q . Solve the matrix equation for the unknown matrix X, or explain why no solution exists.
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Q. Find the inverse of t ¢ ma trix.
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}1. Solve thc system of equations by-ee
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‘2 Find the determinant of the matrix if it exists.
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